 

I am new in trading with only one year experience.

I have been reading your book "The Nature of Trends" several times, and bought the online video for the introduction of Barros Swings. I really appreciate your approach and teachings in trading.

 

I have questions on how to determine the Statistical Time Price windows.

 

For example, please see the chart attached:

 

Yesterday (9th July, Tuesday) EURUSD spot forex:

I plot a 18 period swing on 60 mins chart.

X=1.3029

A=1.2805

 

After XA, I have determine from previous 40 swings:

Mean=0.0119

StdDev=0.0054

(I am trying ways to determine price first, so I haven't gotten to calculate for the Time duration)

 

So, in order to sell the corrective up swing AB:

 

I have the following questions:

(1) Is the Statistical Time Price windows:

        Mean+1 StdDev and Mean -0.5 StdDev?

        Then my window for price will be between 1.2978 and 1.2897?

        (A + Mean+1 StdDev  = 1.2978)

        (A + Mean -0.5 StdDev = 1.2897)

 

(2) In your book, you outline that:

        Mean +3 StdDev:  Look to liquidate position

        Mean +2 StdDev:  Tighten stops, won't add to position

        Mean -1 StdDev:  Look for opportunity to add to position

        Mean -1.5 StdDev:  Aggressively look for opportunity to add to position

 

        However, in my chart, it seems that:

            for Mean -1 StdDev and Mean -1.5 StdDev 

        it is already too late to add into position once the price trade down from B.

        That's why I can't grasp the logic of it.

 

        Please help me to clarify how to sell at B, when the bear candle (last bar shown on my chart), appears.

 

(3) I am currently only able to calculate StdDev for a combination of Impulsive and Corrective swings.

        Do you recommend that it is not accurate, and I should calculate separately for Impulse and Corrective swings?

